5 %R / External View

¥JL—27% L / Without roof unit

o

“J l_ln

U T Y Iy Y ey Y U B W

n r—

—Jv

n

| N i W}

L e Yy Y Yy Y I I

n

—JvJ

BMAZ / Components

[ x®&= : TY-34)2008.02.08

No. Z# / Part name BE / Pcs B / Material - REWHE / Color- Finish
1 by THN—= / Top cover 1 AUn-8"%-p / Polycarbonate |3/M°b- / Light gray
2 |KT4 — / Base 1 AN YD-R 2N IAT74N - I4NT b=
Glass fiber filled Light gray
polycarbonate
At A il MY 3 W=7 / Roof 1 mr/ PVC 54\"b- / Light gray
L |1 A7y b / Gaskef l A Y9703y / Polyurethane 735v7 / Black
m| o 5 |7y ¥ / Latch 2 23Ybx / Stainless steel M3 / Unfinished
- < 6 |Eft~— 2L A(MS x 10) L % = f@70x-h
Screw(M5 - 10) Steel Trivalent chromate
=l == F 7 -hWFT—% / Technical Data
= . 1ﬁ|=|;|: 7
l_M ]:u REZIK / Protection class P65
‘ ERARE®EE / Operating temperature | -20C ~ +75C
300 181 2 WM 2 9 2 / Flammability class UL9LV -0
256 30
219
25X 6=150
] | | L e L, Clir
| \ C. roooooooooH
| u i
: ; o o
: : : 2 g
nlololo] | n o m [ Sl
SRS|S] | © g o 0 o Il
| ] i © L
: < ] *
l ] i
| X C fIOoooooooOhI
. C N R < i
L —M5474-KFyh
4-M5 Insert nut
30
R 29,1 5
2 l I
Ly, |
N A
=N . ’ &% /Title N —
= HAR S HFERTE B5 K  B5 BB M-I & U4 2-hT 5K 993 O ]
M AL TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 POLYCARBONATE PLASTIC BOX with OUTDOOR ROOF
KR /Approved | IRE /Checked | #E/Created |F% /Product number RE/Scale
MLl SL, 2801 BCPR303018S t
4-M5 Insert nuf N hig
/B /Date  2018/10/25 1712




RtE / Internal View

HKABIZIEIL—TF[FFTOELA,
Drawing does not include roof unit.

2 181

1

AT 14— (RR)

Base (Internal View)

300

[ (]

iz

©

@ ® © & ®
® ®
® ®
® ©)
® ©)
® ©)
® ®
® ®
A ® /2N
AN 4 Vv

IS2 ol

=9

L —M54 Y%= M9k
4-M5 Insert nut

BI~TE /Max dim. 1643

AW~HE/Max dim. 272.5

o

B~E /Max dim. 272.5

[ x®&= : TY-34)2008.02.08

H/3— (HFR)

Cover (Internal View)

L -M54Y4-hFoh

L-M5 Insert nut

B hFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

& /Title
Bh K « Bh BB W=-71F & Y31 2-hT 54" 472
IP65 POLYCARBONATE PLASTIC BOX with OUTDOOR ROOF;

O ]

&8 /Approved

12X /Checked

o

8IM /Created

PR

&% /Product number
BCPR303018S

RE /Scale
1.4

fERX B /Date 2018/10/25

2/ 2




	BCPR303018S Model (1)
	BCPR303018S Model (2)

